1. Complete the following formulas using only one
word in each gap.
e The natural increase can be positive or negative and we

can calculate it using the following formula:
Natural increase = -

e The actual increase indicates if the total population of a
place is increasing or decreasing. We can calculate it using

the following formula:

Actual increase = natural increase + —

2. Match the following data correctly.

The population in Getafe in 1900 was 146.310.
The population in Getafe in 1950 was 183.000.
The population in Getafe in 2000 was 12.254.

The current population in Getafe is 4.444,



DIFFICULT ACTIVITY!!!

3. Try to calculate the actual increase using the

following (not real) information.

Births: 3459 Deaths: 2316

Immigrants: 2483 Emigrants: 2271

Actual increase = (write the result with numbers)




